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In Bhddhism the symbol of the wheel with
its eight spokes represents

(A) The noble eight fold paths

(B) The eight disciples of lord Buddha

(C) The eight books of Buddhism

(D) None of the above

(E) Not Attempted

According to Jainism the highest virtue is
(A) Satya (B) Ahimsa

(C) Astreya (D) Santi

(E) Not Attempted

The Fourth Arya Satya in Buddhism is
(A) Existence of suffering

(B) Cause of suffering

(C) End of suffering

(D) Path to the cessation of suffering
(E) Not Attempted

“Ahimsa paramo dharmah” is a statement
found in

(A) Jain Scriptures

(B) Buddhist Scriptures

(C) Hindu Scriptures

(D) Sikh Scriptures

(E) Not Attempted

Kabir stressed that the only way to attain
God was

(A) Fasting

(B) Bhakti

(C) Giving donation

(D) None of the above

(E) Not Attempted

“There is not one God; there is ONLY God.
Therefore there is nothing secular; all that is
here is Isvara.” This is a quote of

(A) Swami Dayanand Saraswati

(B) Swami Vivekanand

(C) Swami Ramkrishna Paramhansa

(D) Raja Ram Mohan Roy

(E) Not Attempted

In Indian ethics ‘Prayascita’ means :
(A) To repent for bad Karmas

(B) To avoid bad Karmas

(C) To overlook bad Karmas

(D) To acknowledge bad Karmas
(E) Not Attempted
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10.

11.

12.

13.

In ___language Ethics is known as Ethikos.
(A) Latin (B) French

(C) Greek (D) Sanskrit

(E) Not Attempted

Decision making based on “the greatest
good for the greatest number of people”
means

(A) Individualistic Approach

(B) Utilitarianism Approach

(C) Rights Approach

(D) Justice Approach

(E) Not Attempted

Ethical relativism is the theory that

(A) we should be always moral to those
who are like us.

(B) different societies have different
ethical beliefs and we cannot judge
them.

(C) ethical standards must be absolute to
be relevant.

(D) Ethical standards must be relevant to
be persuasive.

(E) Not Attempted

Making decisions based on the belief that
each person has fundamental human rights
that should be respected and protected is
referred as which of the following
approach ?

(A) Right Approach

(B) Justice Approach

(C) Collective Approach

(D) Convenience Approach

(E) Not Attempted

The word “Governance” is derived from the

word “Gubernare” which is a word.
(A) Sanskrit (B) French
(C) Greek (D) Latin

(E) Not Attempted

Hukhta, “Good words”, is a fundamental
principle of one of the below mentioned
religions.

(A) Jainism

(C) Hinduism

(E) Not Attempted

(B) Buddhism
(D) Zoroastrianism
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15.
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17.

18.

19.

Who founded the Bhil Seva Mandal ?
(A) Shri Narain Malhar Joshi

(B) Shri Jagatram Dave

(C) Shri Amritlal Vitthalbhai Thakkar
(D) Shri Ghelubhai Nayak

(E) Not Attempted

Justice, courage, temperance,
magnificence, magnanimity, liberality,
gentleness, prudence and wisdom are

described as virtues in Rhetoric by
(A) Plato (B) Aristotle
(C) Stoics (D) Cicero
(E) Not Attempted

Gandhiji’s philosophical foundations for
business is based on the concept of one of
the following :

(A) Socialism
(C) Capitalism
(E) Not Attempted

(B) Cooperation
(D) Trusteeship

“Thirukkural” the classic literature deals with
(A) couplets on Ramayana

(B) couplets on ethics & morality for
common man

(C) couplets describing nature
(D) couplets on teachings of Lord Krishna
(E) Not Attempted

Who said that “Equals should be treated
equally and unequals unequally” ?

(A) Karl Marx (B) Richard Nixon
(C) Aristotle (D) Mao Zedong
(E) Not Attempted

holds that virtues such as justice,
charity and generosity are dispositions to
act in way that benefits the possessor of
these virtues and the society.

(A) Thiruvalluvar

(B) Ramkrishna Paramahansa
(C) Dayanand Saraswati

(D) Aristotle

(E) Not Attempted
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20.

21.

22,

23.

24.

proposed that ethical behaviour
was based on a golden mean, a midpoint
between two extremes.

(A) Plato

(B) Aristotle

(C) Immanuel Kant
(D) Rawls

(E) Not Attempted

The main objective of Citizen’s charter is
(A) To improve the quality of public
services

(B) How to seek a remedy if something
goes wrong

(C) How to get in touch with government
officials

(D) All of the above
(E) Not Attempted

Who among the following was the founder
of Dakshinamurti Vidyarthi Bhavan ?

(A) Ravi Shankar Maharaj

(B) Manubhai Pancholi “Darshak”
(C) Parikshit Majmudar

(D) Nanabhai Bhatt

(E) Not Attempted

Thakkar Bapa is known for his
(A) Participation in Quit India Movement

(B) Work for Adivasis and the down
trodden sections of society.

(C) Opposition with congress party during
independence movement

(D) None of the above

(E) Not Attempted

Guru Nanakji said —

(A) Contemplating the word brings a
benevolent attitude

(B) Destroying
austerity’s fruits

self-pride brings
(C) Right conduct brings true peace

(D) All of the above

(E) Not Attempted
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Who said “Yes, I can see God, just as I see
you here, only in a much intenser sense.
God can be realized” ?

(A) Raja Ram Mohan Roy

(B) Swami Dayanand

(C) Ravishankar Maharaj

(D) Ramkrishna Paramhansa

(E) Not Attempted

Teleological moral theories locate moral
goodness in the

(A) Reason (B) Causes

(C) Consequences (D) Motives

(E) Not Attempted

From the following whose poems have been
included in the religions text of Sikhs ?

(A) Kabir

(B) Meera Bai

(C) Saint Ravi Das Ji

(D) Tiruvalluvar

(E) Not Attempted

Who has laid the foundation for “Spiritual
Humanism” ?

(A) Gandhiji

(B) Raja Ram Mohan Roy

(C) Swami Vivekanand

(D) Aurobindo

(E) Not Attempted

is a Socratic dialogue, written by
Plato concerning the definition of justice,
the order and character of the just city-state
and the just man.
(A) The Republic
(B) Trial and Death of Socrates
(C) The Symposium
(D) Meno
(E) Not Attempted

Which one of the following aspect of
Daniel Goldman’s theory of emotional
intelligence is correct regarding effective
self-management ?

(A) Self-motivation

(B) Mood management

(C) Dealing with stress

(D) All of the above

(E) Not Attempted

Which one of the following committee was
set up for prevention of corruption ?

(A) Sharma Committee

(B) Mehta Committee

(C) Santhanam Committee

(D) Rao Committee

(E) Not Attempted
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32.

33.

34.

35.

36.

37.

Which one of the following committee
examines the report of the Comptroller and
Auditor General (CAG) of India ?

(A) Public Accounts Committee
(B) Estimates Committee

(C) Planning Committee

(D) Civil Service Committee
(E) Not Attempted

The Inquiry and disciplinary procedures
relating to the conduct of civil servant are
subject to which Article of the Constitution
of India ?

(A) Article 309

(C) Article 311
(E) Not Attempted

(B) Article 310
(D) Article 312

The salient ‘value’ envisaged in the Public
Service Bill is

(A) Allegiance to the Constitution and the
law, democracy, nationalism,
so vereignity integrity of India and the
security of the nation.

(B) Uphold the highest ethical standards

(C) Ensure that public moneys are used
with the utmost economy and care.

(D) All of the above
(E) Not Attempted

The claim, that ‘pleasure, mainly
understood as the avoidance of pain by
opting for intellectual pleasure, needs to be
understood as the basis for leading an
ethical life,” is principle of

(A) Altruism (B) Epicureanism
(C) Intuitionism (D) Stoicism

(E) Not Attempted

Who among the following had the motto —
‘Go back to the Vedas’ ?

(A) Dayananda Saraswati
(B) Kabir

(C) Mahatma Gandhi

(D) Swami Vivekananda
(E) Not Attempted

taught that destructive emotions
results from errors in judgement of the
active  relationship  between  cosmic
determinism and human freedom.
(A) Plato
(B) Aristotle
(C) Epicureans
(D) Stoics
(E) Not Attempted
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INIESIERT (B) Alxd«

(C©) w-lgle (D) el

(E) Not Attempted

g elldl vulazwiag © A s
simlydlsa Su-lul 5003 elond 9. 2
Al 9 5 ddl Su-dl R sAA s
Agldl 53 9. ML L elleld-l 2Rl ugHel
sl olldd 53 9. AL 20 waai-l
AL 2AS AWML MuH WA oddl
HA 9. UM, M _

(A) [FslélA 51203 .

B) [Hrsue AwlRs .

(C) <l seliz s1A1R) 9.
(D) WRlg opul IR S .
(E) Not Attempted

HegyHel  gARAYPUALLAL ML
Rigidrtl s18l Wu/3dldl sul ?

(A) Uz old 913 s

(B) ®otalt HeLdlR

(C) *dlal blg

(D) 2U3-l-s

(E) Not Attempted

Y- aladl M lld da Alas el
sl a9, dlRAmil su wesl,
AL Alds Yl g6 529 ?

(A) u4e [8d (B) Aldad [Ed-ll yld
(©) [F:an2dugy (D) vl [Ba-dl yld

(E) Not Attempted

“f Al (g 5 el yRam. ¢ szl
iUl 9.7 219, S8l s&] e ?

(A) HeleHl Ul

B) =l [adsiHe

(C) 2U3-lAs

(D) Guz-i Usl 1S ALl

(E) Not Attempted

QDB-24



38.

39.

40.

41.

For matters involving “Life and Liberty”, the
time limit for the Public Information
Officer to provide information is

(A) 24 hours (B) 48 hours
(C) 05 days (D) 10 days
(E) Not Attempted

Citizens, OCT’s and PIO’s who are staying
out of India, RTI application can be filed by

(A) sending the application by post to the
PIO of concerned department in India

(B) sending the application by post to the
PIO of Ministry of External Affairs,
New Delhi

(C) Filing the application with the PIO of
the local Indian Embassy/
Consulate/High Commission

(D) None of the above
(E) Not Attempted

Who preached the following ?

“Whichever be the religion of a man, it
suffices if it makes a better man.”

(A) Kabir

(B) Shri Narain Guru

(C) Ravi Shankar Maharaj
(D) Mahipatram Rupram
(E) Not Attempted

In India initiated the task of
coordinating, formulating and
operationalising Citizen’s Charters.

(A) Ministry of Law & Justice
(B) Ministry of Labour & Employment

(C) Ministry of Social
Empowerment

Justice and

(D) Department of Administrative
Reforms and Public Grievances

(E) Not Attempted

QDB-24

42,

43.

44.

45.

46.

Ashok learned from his friend that littering
was bad, so when he sees someone doing
it, he forms an unfavourable impression of
that person. Ashok’s learned predisposition
to dislike someone who litters represents
his

(A) emotions
(C) attitude

(E) Not Attempted

(B) personality
(D) orientation

Ramesh is a renowned environmentalist
and works in a pharma company. He finds
that his company is disposing toxic waste
into the local river. Ramesh reports this to
Pollution Control Board. This act of
Ramesh is reported in the local newspaper
on front page. Ramesh is

(A) Disloyal employee

(B) Sincere citizen

(C) Whistle blower employee
(D) Publicity seeker citizen
(E) Not Attempted

The concept of following/adopting the
“Middle Path” was propogated by

(A) AdiJagat Guru Shankracharya
(B) Lord Mahavir

(C) Lord Buddha

(D) Guru Nanak

(E) Not Attempted

Role of ethics and moral values is
significant in bringing good governance.
Which of the following will strengthen the
moral values in governance ?

(A) Group interest

(B) Personal interest fulfillment
(C) Selflessness

(D) Private interest fulfillment
(E) Not Attempted

Who said that “I am neither Hindu nor
Muslim. I am a follower of God” ?

(A) Mahatma Gandhi
(B) Swami Vivekanand
(C) Guru Nanak

(D) None of the above
(E) Not Attempted



47.

48.

49.

50.

51.

52.

dlswla U dls-2Uysd slel, 2013
SRl 2HAHL LA ?

(A) 16-01-2013  (B) 16-01-2014

(C) 16-04-2013 (D) 16-04-2014

(E) Not Attempted

“oflrdMl sl ([Qas)”
“ojogoildl [agaug)” uR ool il sl
glRL AvlLs €9 2

(A) 6leAHD HAoUR] (B) eleldld dRiw
(C) 3cg A (D) AMHLSA AY
(E) Not Attempted

“dlsuld U dls-2UYsd slMel, 20137
VAAR ALSUWAHL del AHA Ry agHi
qY S2edl AL slal AL ?

(A) 4 (B) 6

©) 8 (D) 10

(E) Not Attempted

5331 (Phaedo), >l 9 Ald (On the Soul)
d?ly L oRlldl dqlel sl ¢ ?

(A) dlBA (B) wWel
(©) [Rzeled (D) sy~
(E) Not Attempted

IAAML dldl el Gu idd G5l AHe
ulaR el sa efd audl sedl ¢ 2

(A) 1350 MW

(B) 850 MW

(©) 500 MW

(D) Guz-L Usl 1S A&l
(E) Not Attempted

Rl ofldl suin (Bt Cotton)-ll Udal 518l
s3AAL ?

(A) Y ol [ [afHes

(B) HIASL el HIRA2IAL Y5 Aledl
(C) o A% ol o [dfes

(D) HRdl s g4 wRve

(E) Not Attempted

10

53.

54.

5S.

56.

57.

dlsuld v dlsiysd (AR [@dus, 2016
Hie laAmiell 9 u12) 9 ?

(A) 2l 20151 dlswd i
[adus yaRaAlL M [@dus .
g2s ARSI wEsRll ¥ Ad 24
73U seaml 2ud dx wldidl Fasd
A Ygw e s2al-dl 2849l

o el Wlid WA dl ¥ d AR
[Es17] T 50,000 €3 GRAMIAL €.
S0URL —URS dwA AR ARkl Q92LdL
ARS1EL 2ASEA oRARs 531 wslL

Not Attempted

Alslysd

(B)

©)
D)
(E)

MRd U1 gl WHlwd YABpr sl
st sidsn sul &l A Aelsiq
Aleld 2UY 9 2 A% 52 9 2

(A) 34ypll dd Geuwest

(B) AR sl

(C) el-vidl (Desert Farming)

(D) GUHL dHH

(E) Not Attempted

ARER AR M vid g4 Relud Gl
gHdl sedl © ?

(A) 1200 MW
B) 1250 MW
(C) 1400 MW
(D) 1450 MW
(E) Not Attempted

MIdMl w2aAd (renewable energy) Ulddd
59, &l HedH AUd axdl YR1d 9 ?

(A) R (B) @y x4 ulbd
(C) oMl (D) ud-t
(E) Not Attempted

“w15-9fls UlAR” ed g ?

A) dzoll ¥ Bl dlsl iRl RS
Ad AR sl 20d 9.

g2 Wl A4Sl He [A3dld ytuw
Gl R Gauled 234 Glod
g2l " RBod w22l gl Gaulled ¥
dlogell

gad  warel  Add (ddsdlsa
aldflat auS)uidl  aRi/aulBie
Al Y2 urseuHl 2Aadl dlegofl.
Not Attempted

(B)
©)

D)

(E)
QDB-24



47.

48.

49.

50.

51.

52.

Lokpal and Lokayuktas Act, 2013 came
into force on

(A) 16-01-2013
(C) 16-04-2013
(E) Not Attempted

(B) 16-01-2014
(D) 16-04-2014

The two ‘notes’ on ‘Infant Marriage in India’
and ‘Enforced Widowhood’ were written by

(A) Behramji Malabari
(B) Dadabhai Naoroji
(C) Keshav Chandra Sen
(D) Ram Mohan Roy
(E) Not Attempted

According to the “Lokpal and Lokayuktas
Act, 20137, the maximum number of
members that the Lokpal can have, besides
its chairperson, is
A) 4

<€ 8

(E) Not Attempted

B) 6
D) 10

Phaedo also known as “On The Soul” is
one of the best known dialogues of

(A)
B)
©
D)
(E)

Socrates

Plato

Aristotle
Epicureans
Not Attempted

What is the total installed capacity of Ukai
Thermal Power Station located on Tapi
river in Gujarat ?
(A) 1350 MW

(C) 500 MW

(E) Not Attempted

(B) 850 MW
(D) None of the above

Who introduced Bt Cotton in India ?

(A) National Seeds Corporation Limited

(B) Joint Venture of Mayhco and
Monsanto

(C) Gujarat State Seeds Corporation
Limited

(D) Indian Council of  Agriculture
Research

(E) Not Attempted

QDB-24
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53.

54.

5S.

56.

57.

Which is correct regarding the Lokpal and
Lokayukta (Amendment) Act, 2016 ?

(A) It is an Act to amend Lokpal and
Lokayuktas Act, 2015

Every public servant shall make a
declaration of his assets and liabilities
in such form and manner as may be
prescribed.

A penalty of upto ¥ 50,000 may be
levied upon the concerned public
servant if found guilty.

The concerned public servant may be
removed without a judicial inquiry.
(E) Not Attempted

‘Suryamitra’ skill development
programme, sponsored by Government of
India, aims to train and prepare
entrepreneurs in the field of

(A) Sunflower oil production

(B) Solar technology

(C) Desert farming

(D) All of the above

(E) Not Attempted

What is total installed capacity of power at
Sardar Sarovar Dam ?

(A) 1200 MW

B) 1250 MW

(C) 1400 MW

(D) 1450 MW

(E) Not Attempted

Which renewable energy sector has having
highest installed capacity in India ?

(A) Solar

(B) Small Hydro Energy

(C) Biogas

(D) Wind

(E) Not Attempted

What is ‘Off-Grid Power’ ?
(A) Power that is tapped by people illegally.

(B)

©)

D)

(B) Power generated in decentralised
renewable power projects for isolated
communities.

(C) Power that is generated by diesel
generating sets for homes.

(D) Power that is fed in homes/commercial
buildings from electrical transmission
lines.

(E) Not Attempted

A



58.

59.

60.

61.

62.

63.

59 UBAAA 126l epoe{ul Ml iy 9 2
(A) Ll

(B) AHAUUAsIAL (isotopes) (relwll &y
(C) glRdur udla (Green House effect)
(D) BURTAL dHIH

(E) Not Attempted

6fl.2l.y (BTU) 2 1y €9 ?

(A) % (B) &slsn
(C) Gwy (D) UMl
(E) Not Attempted

gl eudly AlasinAL dalHs

M 1 €9 2

(A) e el

(B) A Ulel

(C) Aysd wlel

(D) sidusL AeilAs ool (@l el
(E) Not Attempted

5Ul

aed Ads del (www)rll 2Uavslz si-L
gIRL SAML AL ?

(A) 2di 3FPL (B) Ela Ao
(C) olla o2y (D) A oi-ln-¢l
(E) Not Attempted

MHIRd  ASIRAL 59 udd  saMl M
2,50,000 AWM Ydi 258l sl
Y3l ulgdld dgais vl © ?

(A) Aud 2elsa 5156z eds (Bharat
Net)

3lud. 2 (Dial.Gov)

S-cllel (e-Taal)

el

Not Attempted

(B)
©)
D)
(E)

A WA 59 wledl wum’ e =il 4l ?
(A) 2L udAs AR wedl [@lire 20w 9.
(B) i d[x95 9.

(C) 2l 55d Yodausl Hie €.

(D) Ml 12 253l 25 2uAUHL 2Ud .
(E) Not Attempted
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64.

65.

66.

67.

sl sl dladidl @adls AL Wog
Al AL M2 HUedl 2 AzAa8R
WelBPgl (ICT) Mav, YD Uiz MiRdyl
59 U5l (IT) WRAlg-L Yoo 9 2

(A) A4 Ay d2ad

(B) Aad S-slRHdlsu deas

(©) 2SSl 2sS. (UIDAI)

(D) w2l Hields (el 2

(E) Not Attempted

IAd ASIRAL S-odAudl 55 udal
ouMstAl wHlA-e2cldsl (land records)<l
AcAlSdl A YrlEd d Guactl i
[Hoed dsais vl © ?

(A) 4leld (SWAGAT)

(B) 9-42L (e-DHARA)

(©) [azaam

(D) @34l (GSWAN)

(E) Not Attempted

MIRd UsRAL Rwea Sksar  silsu
idoladl 25 dlzu uda, wdisz (a9l
A2l WS g A1) el 2

(A) % HRAA RS dodls 2s16-2
HE US-2U 53 d 2l 5B
RAIY WA HOL 9 % drl AULUIR-6R
A AsRdl gid 9.

Al e 2 ¢llds  edldosl
qQuaL9l g2 531 Rwed eacidol o d
AHA, AH d B Guesy sl dd
ll-ALd Aeeell s3I as.
S-S Yadl-l Gualdl 530 ALRsl
Ad edldol AU-als 531 dd Rwedl
ALS 53 wF €.

(B)

©)

D) dwalsz @l Ao,
Y glsyuee, il eldH, Al 47 €.

(E) Not Attempted

sl daled el Asclui “onde”

ved g ?

(A) s3422 -l A1 51l 531 a5 d-l d,
datrl, Alell ALl 2UsH 9.

B) d, %l wd s sl s O,
AL A 218 [&-21512AHL 4348 9.

(C) WAl AL 2nld s¥we
gl wd sl 52 9 d-l d dAlde
ofleirl del-dl uYe €.

(D) Guz-L Usl 1S ALl

(E) Not Attempted

QDB-24



58.

59.

60.

61.

62.

63.

What process causes the heat in the Earth’s
interior ?

A)
(B)
©
D)
B

Volcanoes

Radioactive decay of isotopes
Greenhouse effect

All of the above

Not Attempted

BTU is a measurement of

(A) Volume (B) Area

(C) Heat (D) Temperature
(E) Not Attempted

Electricity is part of which legislative
section of the Indian Constitution ?

(A) Union List

(B) State List

(C) Concurrent List

D)
(E)

Not part of any legislative section.
Not Attempted

World Wide Web (www) was invented by
whom ?

(A) Alan Turing
(C) Bill Gates

(E) Not Attempted

(B) Steve Jobs
(D) Tim Berners-Lee

Which initiative of Indian Government
aims to provide IT connectivity to all
2,50,000 Gram Panchayats in the country ?
(A) National Optical Fibre Network
(Bharat Net)

Dial. Gov

e-Taal

Megh Raj

Not Attempted

(B)
©)
D)
(E)

Which of the following information about
Aadhaar is NOT correct ?

(A)
(B)
©
D)
B

It is unique identity for every Indian.
It is voluntary.

It is only for adults.

The number assigned is of 12 digits.
Not Attempted

QDB-24
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64.

65.

66.

67.

Which IT project in India is the main
provider of Information and
Communication Technology acm
infrastructure for creating a knowledge
society with the aim to ushering in a
knowledge revolution in the country ?

(A) National Knowledge Network

(B) National Informatics Network

(C) UIDAI
(D) Rashtriya
Abhiyan
Not Attempted

Madhyamik Shiksha

(E)

Which e-governance initiative of Gujarat
government aims at enabling access and
maintenance of village land records in an
easy and secure manner ?

(A) SWAGAT (B) e-DHARA

(C) Vishvagram (D) GSWAN

(E) Not Attempted

Which of the following is NOT correct
regarding Digil.ocker, a key initiative
under ‘Digital India’ programme of
Government of India ?

(A) Indian citizens who sign up for a
Digil.ocker account get a dedicated
cloud storage space that is linked to
their Aadhaar number.

It aims to eliminate the use of
physical documents and access their
digital documents anytime, anywhere
and share it online.

(B)

(C) Citizens can self-upload documents
and digitally sign them using the
e-Sign facility.

(D) The slogan of Digil.ocker logo is “My
Documents, Anytime, Anywhere”.

(E) Not Attempted

In the context of data stored in a computer,
what is a byte ?

(A) It is the smallest unit of data that a
computer can deal with

A group of binary digits, usually eight,
that a computer usually deals with

A group of variable bits of data, that a
computer usually deals with depending
on the architecture of the processor
None of the above

Not Attempted

(B)
©)

D)
(E)



68.

69.

70.

71.

72.

Aell AS sy AdU Fdlddd sl
AR SIUEL AR 51UBUR &4 €9 2

(A) 32 desar 28 A5yl ise, 1997
(B) o-si4an ALy vis2, 1998

(C) SwslRHAUA 25Uell® 152, 2000

(D) $3422 HlAYy s AR 2152, 2009
(E) Not Attempted

AAUAHL  SlAARRAL ARH@AL sul noll
U €9 ?

(A) dlud

(B) cudlRAR

(©) =loudl

(D) %-Iole

(E) Not Attempted

“Bawed drAd” sidsy dsul, AL Usl
569 - AL Guasy 9 ?
LAl sl el 212w

2. AlBls aygHdld uHeust

3. AURAG, wHIRA

4. [aga wHLua

5. vigd UHLRIUAL

(A) Gul v (B) 1, 2, v 4

(€ 1,2,4245 (D) 1,2, 3 2 4
(E) Not Attempted

A2 U8 sy SuA (ISRO)  s1dsHli-L
1oL Al ?

(A) Adl vl Alsdd, GuAS AzAASIR
B) Yedld Hle A=A (remote sensing)
(C) WA es-ldim-y aellsel

(D) 2Aaslel GuaeH] w2 kel

(E) Not Attempted

Al oRd i W32 53 "es .
(A) suldlizs 53 wls Shsa

(B) s-elrw=il 53 s Slsul

(C) ulbas 5162

(D) Guz-L sl visus &l

(E) Not Attempted
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73.

74.

75.

76.

77.

AHRdAl AsuHs lgl Adesl A 48
54 AR el ?

(A) gl Awdl Guz well-l uRM-l

(B) MU WA {20l BU As0 (et

(C) &Mt M UYseHl ™Il AR
lsHIBL UL A

D) s o [Haqxi Adlel ay Guael
YsellR UAH UL 2.

(E) Not Attempted

AL Ul Y Rdd YuRAAS 5%
Fruda 9 2

(A) oA

(B) uel

(C) slalld

(D) >uslel

(E) Not Attempted

g H2Al SUA (ISROAL 8a gl oflon
(ot g s ¢ ?

(A) 2AgdlA-2 (B) 2AgdlA-3
(C) AR d=2-2 (D) &R [(Hau--2
(E) Not Attempted

AR 200440 Y51AE, SRd-l UAH
AU (el Guaed M g © ?

A) g (B) CARTOSAT
(C) RISAT (D) EDUSAT
(E) Not Attempted

sB [nas selRlaidl Aeade  FHle
A-AlorAl 2L UGl sul 2nl3u Gualol Al 2

(A) vidlaws deed=s nvudl
(B) uls Geuler Ul

(C) W$ Bauleul aaiRl, wisl 320edl
A Uls Gougal-l ded [Asdwel

sl diBislsel asl
Not Attempted

D)

(E)
QDB-24



68.

69.

70.

71.

72.

Which Indian Act makes it illegal to
knowingly spread a computer virus ?

(A) Data Protection and Security Act, 1997
(B) Information Security Act, 1998

©
D)
(E)

Information Technology Act, 2000
Computer Misuse and Cyber Act, 2009
Not Attempted

Where are the fossils of dinasour found in
Gujarat ?

(A) Lothal

(B) Balasinor

©
D)
(E)

Dholavira
Junagadh
Not Attempted

Under the ‘Digital Gujarat’ scheme, which of
the following online services are available ?

Application for new Ration Card
Religious minority certificate
Character certificate

Widow certificate

R N

. Farmer certificate

(A) Alloftheabove (B) 1,2 and4
© 1,2,4and5 (D) 1,2,3and4
(E) Not Attempted

Which of the following is NOT part of
ISRO’s programmes ?
(A) Satellite communication including TV

broadcasting
(B)
©
D)
B

Remote sensing of Earth
Weaponisation of space technology
Rocketry for access to space

Not Attempted

The Small Savings and Provident Fund are
constituents of :

(A) Consolidated Fund of India
(B) Contingency Fund of India
©
D)
B

Public Account
None of the above
Not Attempted

QDB-24
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73.

74.

75.

76.

77.

Which of the following is NOT true in
regard to India’s scientific achievements ?
(A) Discovery of water molecules on
lunar surface

(B) Successful mission to Mars at first
attempt

(C) The only Asian country to participate
in the Human Genome Project

(D) First Asian country to launch largest
number of satellites in a single
mission

(E) Not Attempted

Which of the following is the Supersonic
Cruise Missile of India ?

(A) AGNI
(B) Prithvi
©)
(D)
(E)

Brahmos
Akash
Not Attempted

ISRO’s next mission to Moon is called

(A) Chandrayaan-2 (B) Chandrayaan-3
(C) Rover Lander-2 (D) Lunar Mission-2
(E) Not Attempted

Launched in September 2004, the name of
India’s first dedicated Education Satellite
is :

(A) ARYABHATA (B) CARTOSAT
(C) RISAT (D) EDUSAT
(E) Not Attempted

Which of the following is NOT a key
application of satellite remote sensing in
agriculture related activities ?

(A)
(B)
©)

Identifying cultivable wasteland
Crop production forecasting

Crop intensification, rotation and
cropping system analysis

(D) Mechanisation
agriculture

Not Attempted

opportunities in

(E)



78.

79.

80.

81.

82.

83.

o Lol (GPS) 2UURA DL AAL2M-23
Adlolait s1EdsH (Geo Augmented
Navigation Programme) GAGAN-iL
walis iy g 9 2

(A) RS Bisud M2 GuAs uHLRd
o Rreu-l 2auAL, Guulol
A WHIRLA 529,

H2l AL 2851 Adldlan Ay sl
Hueld sRwd auslsd s sl
BrlRll MR A1 Ml Y3
YLl

Not Attempted

(B)
©)
D)

(E)

Guasl 589 ddlRiAl gredd A
AHRARYAL glRL dHAl St AL
L dFly GUALRL sl 2Ud 9 2

(A) INSAT-VHRR (B) RS-1C/1D

(C) CARTOSAT (D) RISAT-1

(E) Not Attempted

UL ol AiBls A sl UMl
U, &, ?

(A) Ulvizel—T uHIRy uTlael

(B) asta™i 23 Al Gdzuel

(C) 2B -V Bruda ulawt

(D) WlviRel — IT uRHIg) udlael

(E) Not Attempted

Flas i 3 R [Qs 2 502 GuR
uldole 4sd AYsd AR sd-A 54 e ?

(A) AYsd v AcMdl AM™[A suq 1540
(2004)

Flas elruR sd-a- (1972)

U sd-at (1980)

a{ldl $cd-2ut (1980)

Not Attempted

(B)
©)
D)
(E)

yo-9(lal (Euthanasia) 2l e® €9 ?

(A) ojel yTlawl

(B) =il HY

(C) 29yl GUAR (Gene therapy)

D) o-dlet  sdladIad  (In-vitro
fertilization)

(E) Not Attempted

Ais2-4 2 {lAunidl sil ond © 2

(A) %dIR (B) 33l

(C) 5w (D) us1S

(E) Not Attempted
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84.

85.

86.

87.

88.

89.

sBIL [BaRel vied g 2

(A) waRzon Rafaul dur sdd [Grirel
(B) %A (gel)Hl Wdd (encapsulated) (G181
(C) %4 (geD™l Wdd (encapsulated)
WRRs 26l (somatic embryos)

¥d  (gel)Ml Wdd (encapsulated)
(g sirlla o6l (zygotic embryos)

Not Attempted

D)

(E)

A3 UG (G9) (Grand Nine) 2L Usl
591 LSl ond 9 2

(A) 30 (B) sl

(C) ®us9 (D) Al

(E) Not Attempted

MRl SAL MolAdML  slAsLA

[acior 198641 Gle] saMl 21y ?

(A) 5[ 2 vigd sQURL Mol

(B) [Ast 2 WlenBisl H-uax

(C) »n A, el [as 24 oo
ARl Holldu

uylaRel, Al A -1y RadH Huay
Not Attempted

(CHAMAN)

(D)
(E)
wwse  AHA
Asondg 9 2

a-dl e

(A) ewduddl wisl sl 2144 qaa-

(B) IR [Bgil (anchor-points) UR 32l
AU (Data collection)

(C) [&xel anam (Glacier Movement)<il
150280

(D) el Al view

(E) Not Attempted

Yeles A seldHe Ay S5

(United  Nations  Climate ~ Change

Copfqrence) COP 21 eiotd (1AL Usl Y

A 9 2

(A) 195 zali-l Wl M0 et
el

(B) 174 el wiydl 2R 6w
IR[MS [2a, 2led ¥, 224 i,
201671 A% ALl 530

(C) -l Huu Ay Aas duHid asRl
L Al 2% 52l 2AU9L vl €.

(D) GUAL dxH

(E) Not Attempted

ALl Mg HAL 2y 54 9 ?
(A) Y 23 (B) X 2oy
(C) 2oyl 21 (D) 2R 1
(E) Not Attempted
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78.

79.

80.

81.

82.

83.

What is the primary objective of the GPS
Aided Geo Augmented Navigation
(GAGAN) programme ?

(A) To establish, deploy and certify
satellite based augmentation system
for civil aviation

(B)

©

D)

To support marine traffic at high seas
To provide coastal fishermen support
system

(E) Not Attempted

Which satellite’s imageries are used by
Doordarshan and newspapers as part of
their weather reporting ?

(A) INSAT-VHRR (B) RS-1C/1D

(C) CARTOSAT (D) RISAT-1

(E) Not Attempted

‘Smiling Buddha’ was the assigned code
name of -

(A) Pokhran-I Nuclear Test

(B) Rakesh Sharma’s landing in space

(C) AGNI-V Missile Test

(D) Pokhran-II Nuclear Test

(E) Not Attempted

Which UN the
development and possession of biological
and toxin weapons ?

(A) UN Security Council Resolution 1540
(2004)

Biological Weapons Convention (1972)
Paris Convention (1980)

Geneva Convention (1980)

Not Attempted

convention prohibits

(B)
©)
D)
(E)

Euthanasia refers to
(A)
B)
©)
D)
(E)

Shankar-4 is a variety of

(A) Sorghum (B) Castor
(C) Cotton (D) Maize
(E) Not Attempted

Pre-natal diagnosis
Mercy killing

Gene therapy
In-vitro fertilization
Not Attempted

QDB-24
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84.

8s.

86.

87.

88.

89.

Artificial seeds are

(A) Seeds produced in
condition

Seeds encapsulated in a gel
Somatic embryos encapsulated in a gel
Zygotic embryos encapsulated in a gel
Not Attempted

laboratory

(B)
©)
D)
(E)

Grand Nine (G9) is variety of which of the
following crop ?
(A) Banana

(C) Gauva

(E) Not Attempted

(B) Maize
(D) Sapota

The Department of Biotechnology was
created in the year 1986 within which
Ministry of India ?

(A) Ministry of Agriculture & Farmers
Welfare

Ministry of Science and Technology
Ministry of Water Resources, River
Development & Ganga Rejuvenation
Ministry of Environment, Forest and
Climate Change

Not Attempted

(B)
©)

D)
(E)

Project CHAMAN is associated with :

(A) Assessment and management of
horticulture crop

Data collection on anchor points
Assessment of glacier movement
Monitoring of tiger population

Not Attempted

(B)
©)
D)
(B

Which of the following is true about
United Nations Climate Change
Conference COP 21 ?
(A) Representatives
attended it.

of 195 countries

(B) 174 countries signed the agreement on
the opening day, that is 22" April,
2016.

(C) Its main aim is to keep the global
temperature rise this century well
below 2° C.

(D) All of the above

(E) Not Attempted

Which is the largest human chromosome ?
(A) Y Chromosome (B) X Chromosome
(C) Chromosome 21 (D) Chromosome 1
(E) Not Attempted



90.

91.

92.

93.

9.

95.

caaldd  GeldMi e s s He
Alse-dloL w2 (softening agent) d3l¥ sl
BARS 4 (enzyme)*‘fl GuAL WA €9 ?

(A) ATP

(B) cudlél-

(©) laln (Amylases)

(D) &l

(E) Not Attempted

198841 Gl Sl 2l AL URHIY] w2l-l
i, YAl GUR gHAl A€l saL SAR
Guz udl $3 © ?
(A) Y221

(C) w3l

(E) Not Attempted

(B) Al
(D) A

Mg, A (Aol Aaddig FudA i
YRALAL 51Ul HIRA AR SR 198341 Gledl
sl sl [aeoL 53 69 2

(A) ysdluz gz sz s Sksa
(4. (NPCIL)

viells 2w 0yde?l ¢l (AERB)
Ruidsre »ils 2ieidls 9% (DAE)
aiedl lHls Flul A2 (BARC)
Not Attempted

(B)
©)
D)
(E)

20060 &7l %. 193 wise suL [guslla
ASSR AL 9 2

A) HRd-BUL Rlad ysdlur desiR
(B) Y- H1Rd Rad ysdluz ussiR
(C) iRd-2uUA Rfad ysdluz ASsR
(D) HRA-2(Eu Rad sdlar AesR
(E) Not Attempted

AYsd el AU AGUAL [FarellsRei
Aot v ARHL s cURAl AsElA
wRHIEL SR Hsd A u[EAMs (A
Hierdl 2L el Wdlldd sul 2

(A) AR 83 (B) S+elL DUl

() A AL (D) 205.5. 1A
(E) Not Attempted

AL U8 5O Alml cud 14l 530 9 2
(A) ysdlaR Ai-uidlglaq 2 (NPT)
B) slld={la 222 6+ 2l (CTBT)
(©) ullua 222 o+ 23l (PTBT)

(D) Guz-L Usl 1S A&l

(E) Not Attempted
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96.

97.

98.

99.

100.

AL gl5e YseluR ls2AS g YA ¢ ?
A) [araxn{lu agan ysdluz [Harel
(B) gHAlvlRA ells1d 451 ugiaLsal
uRHIRL elBuR AlE Rancs wlask
dBas, uselust A4 [Bir-cleeiaysd
1) [Fearadlsel

GURHL dHH

Not Attempted

©)

D)
(E)

MRddl sl s AiRlé
(NCA)L nlelRisatia Barad sa *ue
560 A FAGLER 9 ?

(A) eils 2% [aeudL (DAE)

(B) &ML ells 2l A2 (BARC)
(C) cudld A

(D) 22lws sl 4 (SFC)

(E) Not Attempted

Rdl AYSd A Hledl sUL sl
ulaffal Reaellsedl st (CD)MI
MRYds 58 5 IRd CTBTHL V&SR
“grpll uel dl, sRd AE€l” (Not now,
not ever) 649l ?
(A) 349l =2y
(C) UM 28l
(E) Not Attempted

B) s A
(D) adld s

Rd 9 Al Ul © 2

(A) =ML, SRR uaH Gualal

(B) URM1E) &A1l GuAlol < $24l.
(C) WML, SRR UAH GuUloL A 52l
(D) Guz-L Usl 1S ALl

(E) Not Attempted

MR NPT ®lgeildysd Ak 12 sl
SUL SIRBLAUR AHE €9 ?

(A) WML [Farollser M AMYelg i
seluR Wactgdirl Gedvidl AL
Mg, efaRl ¥ P-5 sul Hiesl
[agisulEsiz ol ol 6.

¥ B 1 AYAIL, 1967 uLdl
URHIG, ollot uRlERl sed el ddl sl
uRHIEL et 2l (sAlAR dudd )
(NWS) d313 Heizdlugl 58l s31 clal .
GURHL d¥HIM

Not Attempted

(B)
©)

D)
(E)
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90.

91.

92.

93.

9.

95.

Which enzyme is used in textile industry as
a softening agent for starched clothes ?

(A) ATP (B) Biotin

(C) Amylases (D) Trypsin

(E) Not Attempted

India has signed the Agreement on the
Prohibition of Attack against Nuclear
Installations and Facilities with which
country in the year 1988 ?

(A) USA (B) China

(C) Pakistan (D) Russia

(E) Not Attempted

Which body set-up by Government of India

in 1983 carries out regulatory and safety

functions regarding nuclear and radiation

facilities ?

(A) Nuclear Power Corporation of India
Ltd. (NPCIL)

(B) Atomic Energy
(AERB)

(C) Department of Atomic Energy (DAE)

(D) Bhabha Atomic Research Centre
(BARCO)

(E) Not Attempted

Regulatory Board

The Henry J. Hyde Act of 2006 relates to

which bilateral cooperation ?

(A) India-Russia civil nuclear cooperation

(B) USA-India civil nuclear cooperation

(C) India-Japan civil nuclear cooperation

(D) India-Australia civil nuclear
cooperation

(E) Not Attempted

Which Indian Prime Minister had proposed
an ‘Action Plan for a Nuclear-Weapons-
Free and Non-violent World Order’ in the
Third Special Session on Disarmament of
the UN General Assembly ?

(A) Jawaharlal Nehru (B) Indira Gandhi
(C) RajivGandhi (D) LK. Gujral

(E) Not Attempted

India was a signatory of which of the
following treaties ?

(A) Nuclear Non-proliferation Treaty (NPT)
(B) Comprehensive Test Ban Treaty (CTBT)
(C) Partial Test Ban Treaty (PTBT)

(D) None of the above

(E) Not Attempted

QDB-24

96.

97.

98.

99.

100.

India’s Draft Nuclear Doctrine prescribes

for:

(A) Credible minimum nuclear deterrence

(B) Punitive retaliation with nuclear
weapons to inflict damage
unacceptable to the aggressor

(C) Global, verifiable and non-
discriminatory nuclear disarmament

(D) All of the above

(E) Not Attempted

Which  body is  responsible to

operationalize the directives of India’s

Nuclear Command Authority (NCA) ?

(A) Department of Atomic Energy (DAE)

(B) Bhabha Atomic Research Centre
(BARC)

(C) Indian Army

(D) Strategic Force Command (SFC)

(E) Not Attempted

Which Indian permanent representative to
the UN had forcefully told the Conference
on Disarmament (CD) that India would
never become party to CTBT, “not now,
not ever” ?

(A) Arundhati Ghose

(B) Shiv Shankar Menon

(C) Shyam Saran

(D) Lalit Mansingh

(E) Not Attempted

India has adopted the policy of

(A) First-Use of nuclear weapons
(B) Non-Use of nuclear weapons

(C) No-First-Use of nuclear weapons
(D) None of the above

(E) Not Attempted

India considers NPT as a discriminatory

treaty for which of the following reasons ?

(A) No mention of time bound and
verifiable commitment for nuclear
disarmament

(B) Nuclear weapons have become
prerogatives of the P-5 countries

(C) It arbitrarily decided to consider those
countries who have tested a nuclear
bomb by January 1, 1967 as Nuclear
Weapons States (NWS)

(D) All of the above

(E) Not Attempted



101.

102.

103.

104.

105.

106.

107.

8ndl 2A¢3ls (mild anaesthetic) d3l%
dlslol old (laughing gas) dily oelldl,
sUL YL GUAloL s U 9 ?

(A) AUES IULSALDS

(B) slol sluisasds

(C) U2 2ALSALDS

(D) e

(E) Not Attempted

i wdlRHl A Al souetHl
AL A1l Gl [Big 9 s © ?

(A) elduRe-UL  (B) sldule-aq

(©) dlmeldls v (D) seldls waR
(E) Not Attempted

Haeld  digel Usl, Guudl el Gam
Yalss g 59 ¢ 2

(A) ™l (B) dioy

(C) el (D) A [

(E) Not Attempted

wYMs Wl A Fd 5y
gl AR ¢9 ?

(A) 3l (B) HFC-134a

(C) ddi (D) il

(E) Not Attempted

8et, WALl i A1y, GURid gl 2y ol

73Ul oLl

(A) 2ld, »HIR5A (Native, Amorphous)

(B) WML, olp-wO2ldt s
(Plasma, Bose — Einstein condensate)

© Qj,‘{?_—éla&[, 2R 5Y (Super-critical,
Amorphous)

(D) Guz-L Usl 1S A&l

(E) Not Attempted

IR UL USIRAL d22UAL GuyldL 52 9 ?
(A) Als a2l (Sonic waves)

(B) 1e2lRUGB8 d3°ll (Ultrasound waves)
(C) UL d32U (Radio waves)

(D) Guz- Usl 1S ALl

(E) Not Attempted

AL Glorurl s1281 g 2 9 ?
(A) oRleR) B) wsdl

(C) 2udeR (D) ualAul

(E) Not Attempted
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108.

109.

110.

111.

112.

113.

114.

115.

qraled uell o, Geleel ¢ ?

(A) 121 well (Soft Water)

(B) Avid well (Hard Water)

(©) 2% well A Avid weld FHswel
(Mixture of Soft water and Hard water)
AR el ugl gl A A well
L Al

Not Attempted

D)

(E)
PR gHL ddladHl Al 9 AR duidl
514 (cream) 2l 51281 €92l U3 €9 ?

(A) Rl (B) swwoudl e

(C©) ¥wal el (D) ncusdel e
(E) Not Attempted

SecllA SiAL 54 9 2

(A) deusd (B) A%+t
(C) dluMl (D) AHU
(E) Not Attempted

HAQATRHUL 2R 2A.-5522  (‘Rh’-factor)
sl Auldl Gur w4l ¢9 ?

(A) 5L

(B) #dcs0l

(C) a3 wed2 (Blood Platelet)

(D) ods 1-2l%+ (Blood Antigen)

(E) Not Attempted

oy dslel AglHidl eRumi uddl ¢ R

9 Ay €9 2

(A) d g5 gol 9.

(B) d aulgs Gl 2 9.

(C) d Avfl AUl 2 .

(D) U2 d U 2 9 U el
Gl GUR MR AN 9.

(E) Not Attempted

% UlBul glRL dtd & @3uuidl Ale-dly,
QY RXAIUML FAUA 9 drl 8 secy 9 ?
(A) ousdleian (B) &lR8L

(C) GBedyd- (D) g

(E) Not Attempted

Ridsl damiell Geetadl usiaqil [3eu
Usel BUR AL SI1RBL USIOU U3 €9 ?

A) gdlsel (B) laszel

() [acsux+ D) [aad~

(E) Not Attempted

QRALEAL UL 2L 51201 UASIR &M €9 2
(A) Ml (B) eolel

(C) yescumL (D) Raldanysdl
(E) Not Attempted
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101.

102.

103.

104.

105.

106.

107.

Which gas, known as Laughing Gas, is
used as a mild anaesthetic ?

(A) Sulphur Dioxide (B) Carbon Dioxide
(C) Nitrous Oxide (D) Methane

(E) Not Attempted

The highest point of the normal blood
pressure range in human body is called

(A) Hypertension

(B) Hypotension

(C) Systolic Pressure

(D) Diastolic Pressure

(E) Not Attempted

Among the elemental metals, the best
conductor of heat is

(A) Gold
(C) Silver
(E) Not Attempted

(B) Copper
(D) Aluminium

Modern refrigerators usually use which
refrigerant ?

(A) Freon
(C) Halons
(E) Not Attempted

(B) HFC-134a
(D) Ammonia

Identify two more states of matter other
than solid, liquid and gas.

A)
(B)
©
D)
B

Native, Amorphous

Plasma, Bose-Einstein condensate
Super-critical, Amorphous

None of the above

Not Attempted

What kind of waves do radars use ?
(B) Ultrasound waves
(D) None of the above

(A) Sonic waves
(C) Radio waves
(E) Not Attempted

Deficiency of lodine causes

(A) Beriberi (B) Scurvy
(C) Goitre (D) Pellagra
(E) Not Attempted
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108.

109.

110.

111.

112.

113.

114.

115.

Rainwater is an example of

(A) Soft water

(B) Hard water

(C) Mixture of soft and hard water
(D) Neither soft nor hard water
(E) Not Attempted

When milk is churned, the cream from it is
separated due to

(A) Frictional force

(B) Centrifugal force

(C) Centripetal force

(D) Gravitational force

(E) Not Attempted

Kelvin is a unit of
(A) Length

(C) Temperature
(E) Not Attempted

(B) Mass
(D) Time

The ‘Rh’ factor in human body is found on
the surface of

(A) Red Blood Cell (B) White Blood Cell
(C) Blood Platelet (D) Blood Antigen
(E) Not Attempted

What happens when a ship enters a sea

from river ?

(A) It sinks a little.

(B) TItis elevated a little.

(C) Remains at same level.

(D) Depend on the depth of the sea where
it enters.

(E) Not Attempted

The process by which a substance converts
directly from a solid phase into a gaseous
phase is called

(A) Evaporation
(C) Sublimation
(E) Not Attempted

(B) Cooling
(D) Melting

Light rays emerging from a cinema
machine spreads wide on the screen due to
(A) Polarization (B) Interference

(C) Dispersion (D) Diffraction

(E) Not Attempted

Raindrops are spherical in shape due to
(A) Friction (B) Pressure

(C) Surface tension (D) FElasticity
(E) Not Attempted



116.

117.

118.

119.

120.

121.

122.

YAdHL  dllAl  souRid sul vidella
Al 52 €9 2
(A) S=ydl- (B) R

(C) wdAKR (D) A221%

(E) Not Attempted

aRddl Ylaas  weldl  wHweieiddl
(dizel)  usel Sy Ul (pH)G,
YHIBL 6.

(A) 5.5-6.0

(C) 6.5-85

(E) Not Attempted
sl 2L (Rickets)
GoruAL cle 2y 9 2
(A) [a2auH-A

(©) [e-c

(E) Not Attempted

MRd 2155 ¢glol (The Contingency
Fund of India) <llA-migdl sl gwud
Al 20 9 ?

(A) MR R0euld

(B) Rl WaLAH{l

(C) ™R sl

(D) ®IRddl el Ala  (The Finance
Secretary)

Not Attempted

(B) 6.0-6.5
(D) 8.5-10.5
syl [qeuldadl
(B) [a2Ux-B
(D) [a2auq~-D

(E)

AMRIRUL (Bats) 2aRdl GEL ay ¢
518 5 d BRADA (emit) 52 9.
(A) Uzul a2l (Radio waves)
(B) ey« d3ou
Sound Waves)

IR (Microwaves)
a-[320ll (X-Rays)

Not Attempted

(Ultrasonic

©)
D)

(E)
Al U sy [asu- AR 9 ?

(A) RSl lRdAl Al vdl e
a3l ANeR 534 ©.

(B) sw 2AQ us .

(C) YrHL vlal 515l »iee e anelldl «.

(D) MR ASRAL uulazel Huau glrl
MRRdl sB-wRRalas  [GrdiRA
i[5d scUML Ll €.

(E) Not Attempted

Yl uadl sl a9 ?

(A) 181l 35° 21 65°, GrR i elBwl oid
(B) 12l 45° 1 65°, GrR i elawl oid
(C) 1l 50° 21 75°, GrR i elawl oid
(D) 12l 35° i 45°, GaR i e[&wl oid
(E) Not Attempted
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123.

124.

125.

126.

127.

4L a9l GUR HFLGHBL 6l0L JREI%R Sl €9 ?
(A) s591

(B) 4529t

©) [ayaga

(D) 90° GuR i elawL aial

(E) Not Attempted

ARl (el 2 Al

[t (Assertion) (A) : AL 21 ol o
M1 ¢9.

51291 (Reason) (R) : GIRdMl @il
Al viud viel o Hulled €.

AL sleniell a2l et wie s

(A) (A) 21 (R) 6l AR 9 244 (R)

(A) Al 012l aHydl 9.

(A) 1 (R) 6l 2L ¢ ueL (R) 1

(A) AL =l A1yl el

(A) 13 9 uBL (R) v

(A) Ui €9 ugl (R) A1,

Not Attempted

N

2
(B)
©)

D)
(E)

6.
6.

MRdld [guseud,  Rdlel G R,
slatelel sAl vidg o ?

(A) [azHial es3lil

(B) Heled 25311l

(©) NallF] 25321l

(D) Aldysl BuRHwu

(E) Not Attempted

[ayagdly ueaiml HedH darule A1y 9
(A) U deusal

(B) Owsidllal deusa

(C) *Rdld gl

(D) MR deUsel

(E) Not Attempted

9IRl-ée woredld ol dAdA AHuIREL
(Rad) sul 2ldg 9 2
(A) uBy ooy
(B) u3ld
(C) R
(D) A
(E) Not Attempted
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116.

117.

118.

119.

120.

121.

122.

Which hormone controls blood pressure in
humans ?

(A) Insulin

(C) Thyroxin

(E) Not Attempted

(B) Aldosterone
(D) Oestrogen

As per Indian standard specifications for
drinking water, the desirable pH value is in

range of
(A) 55-6.0 B) 6.0-6.5
(C) 6.5-85 (D) 85-105

(E) Not Attempted

Rickets is caused by the deficiency of
which vitamin ?
(A) Vitamin A
(C) Vitamin C
(E) Not Attempted

(B) Vitamin B
(D) Vitamin D

The Contingency Fund of India is kept at
the disposal of :

(A) The President of India

(B) The Prime Minister of India

(C) The Finance Minister of India

(D) The Finance Secretary

(E) Not Attempted

Bats can fly in dark because they emit
(A) Radio waves

(B) Ultrasonic sound waves

(C) Microwaves

(D) X-rays

(E) Not Attempted

Among the following statements which one
is correct ?

(A) Sikkim has been declared as organic
farming State of India.

(B) Cotton is Rabi Crop.

(C) Surma Valley is known for coffee-
estate.

(D) The agro-ecological region of India
has been delineated by the “Ministry
of Environment, Government of
India”.

(E) Not Attempted

Prevailing Westerly wind blow between

(A) Latitude 35° and 65° both North and
South

(B) Latitude 45° and 65° both North and
South

(C) Latitude 50° and 75° both North and
South

(D) Latitude 35° and 45° both North and
South

(E) Not Attempted
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123.

124.

125.

126.

127.

On which latitude Coriolis force is absent ?
(A) Tropic of Cancer

(B) Tropic of Capricorn

(C) Equator

(D) 90° North and South Latitude

(E) Not Attempted

Consider the following statements :

Assertion (A) : Tea is the major export of
country.

Reason (R) : The domestic consumption of
tea in India is very limited.

Select correct answer from the code below :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(A) is true, but (R) is false.
(A) 1s false, but (R) is true.
Not Attempted

(B)

©)
D)
(E)

Doddabetta, the highest peak of Peninsular
India is located in

(A) Tirumala Hills (B) Mahadev Hills
(C) Nilgiri Hills
(E) Not Attempted

(D) Satpura Ranges

The maximum rainfall in equatorial belt
occurs in

(A) Zaire Basin
(C) Indian Tropics (D) Amazon Basin
(E) Not Attempted

(B) Indonesian Basin

Where is the Chhari-Dhand Wetland
Conservation Reserve located ?

(A) West Bengal
(B)
©
(D)
(E)

Gujarat

Kerala

Odisha

Not Attempted



128.

129.

130.

131.

132.

oLl (Agulhas) uBAH AeEl Udle
AL WSl 5L HeRUARAL 9 2

(A) -ablesl HewerR
(B) U35 HelauRR
() [8e HawuR

(D) 25les HelRR
(E) Not Attempted

g HIRHIAA 2L Usl sUL AAAL U
udBy a3 e sl 2udd 9 ?

(A) sl (B) HeRI%

(C) sales (D) Henad

(E) Not Attempted

Aadd  vedart = BHAs HQdla
ALSB A (NATMO) $4i 2uda ¢9 ?
(A) Youd (B) slasldl

(C) derlole (D) «dl (el

(E) Not Attempted

AuL 2 Yr1Ses weeA wis wUHIS1A
Al A3g Gelld, UM 241Ul

(A) Ao Agy-l

(B) ®uceR AUlHay-l

(©) 3lar AuayHl

(D) HAlAL Ayl

(E) Not Attempted

AR (el 2 Al

@t (Assertion) (A) SIERE)
wiidell gl w3 d ([@s
yHe Al

51281 (Reason) (R) : GUdrl HL2LGLOLAL
RRARML 554 AR HElAL duUle
Y3 9.

AL slamiell AL Fael U S

(A) (A) 2 (R) 6 AR 9 2 (R) ¢

(A) L Al wngdl .

(A) 21 (R) ol Al 9 uel (R) ¥l

(A) Al a0l augydl Al

(A) A1 9 uaL (R) vig ©.

(A) Ui €9 ugl (R) 13, 9.

Not Attempted

(B)

©)
D)

(E)
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133.

134.

135.

136.

YUEL-TA AT A %L A A 20
5137l BUARL S AAL wALeL UAE S :

wel-1 wel-11
(Riranal) (>~
Huanys)
(L) %A AlvL AWHA 3 (1) auiAB
(National Rice Research
Institute)
(61) 3dld d¥lg A 5w (2) -ARYR
(Central Tobacco
Research Institute)
(5) 3ald s dalad 3 (3) AAYgl
(Central Institute for
Cotton Research)
(3) GRdld A4 AgaA 5w (4) ses

(Indian Institute of
Sugarcane Research)
CORNCIENC I

A 2 1 4 3
B 3 2 1 4
<© 4 3 2 1
D) 4 1 2 3
(E) Not Attempted

syl clolfassior el yedl [agua
1oL GUR [SHALlA 2R 530 2

(A) 2397\ (Tertiary)

(B) %UAS (Jurassic)

(C) [azelxllv (Pleistocene)

(D) (Bea (Cretaceous)

(E) Not Attempted

5%9 Guseu-ll.  awls  wslas
(Physiographic) 218l SIDETRVE RN
(A) deldl 21 94l 2udaL oL

(B) $9RLAL0IL VLURL UL

(C) tdell Al gaal

(D) URAAL 21Y2il 24 cdlAL wssl

(E) Not Attempted

AR [Qal wud dl 2o A 2udaL
SL3Hl Guulol 531 AL Aot We 51
(1) 2sd-AL Hel-dl sislatatsl ydat .
(2) A%l HeldlAl el GUzIl
[faa wensi Aldl 41d €.

s5d (1) A3, ©.

s5d (2) A ©.

(1) 2 (2) 0l 9.

(1) 5 (2) 518 w13, 2l

Not Attempted

(A)
(B)
©)
(D)
(E)

QDB-24



128.

129.

130.

131.

132.

The Agulhas
boundary current of which of the following
oceans ?

(A) Antarctic Ocean (B) Pacific Ocean
(C) Indian Ocean (D) Arctic Ocean
(E) Not Attempted

Current is the western

Blue Mormon has been declared as the State
butterfly of which of the following States ?

(A) Sikkim (B) Maharashtra
(C) Karnataka (D) Meghalaya
(E) Not Attempted

Where is National Atlas and Thematic
Mapping Organization (NATMO) located ?

(A) Mumbai (B) Kolkata
(C) Hyderabad (D) New Delhi
(E) Not Attempted

Name the Strait that connects Russia and
United States of America.

(A)
(B)
©)
D)
(E)

Bering Strait
Gibraltar Strait
Dover Strait
Messina Strait

Not Attempted

Consider the following statements :

Assertion (A) : Inland Water ways are not
well developed in India.

Reason (R) : Major parts of India receive
rainfall only for four months.

Select correct answer from the code below :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(A) is true, but (R) is false.

(A) 1s false, but (R) is true.

Not Attempted

(B)

©)
D)

(E)

QDB-24
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133.

134.

135.

136.

Match the List — I with the List — II and
select the correct answer using the code
given below :

List -1 List - II
(Institutions) (Location-
Headquarter)

(a) National Rice (1) Lucknow
Research Institute

(b) Central Tobacco (2) Nagpur
Research Institute

(c) Central Institute
for Cotton
Research

(d) Indian Institute of (4) Cuttack
Sugarcane
Research

@ ® (© (@

(A) 2 1 4 3

B) 3 2 1 4

<) 4 3 2 1

D) 4 1 2 3

(E) Not Attempted

(3) Rajahmundry

During which geological period the glacier
influenced a large part of the earth ?

(A) Tertiary (B) Jurassic

(C) Pleistocene (D) Cretaceous

(E) Not Attempted

Which of the following is the characteristic
physiographic feature of the Kutch
Peninsula ?

(A) Undulating Projections

(B) Marshy salt flats

(C) Finger like mounds

(D) Coral Islands and Sandstone

(E) Not Attempted

Consider the following statements and
select the correct answer using the code
given below :

(1) The Gujarat Plain lie to the East of
Kathiawar.

The interior highlands of the Gujarat
Plains register the source of various
streams.

Only (1) is correct.

Only (2) is correct

(1) and (2) are correct.

Neither (1) nor (2) is correct.

Not Attempted

2

(A)
(B)
©)
D)
(E)



137.

138.

139.

odlL gl drf UH AAM. GlUE HUIRBL $2 9

gamAel wAd ol Adl 2
AA5el el

(A)

gaMAeL WA UlsR A€l A vlasHel
gl

sl WA HellBAl A€l 2
A1) gl

gamMael Wl elldaur
A1) gl

Not Attempted

(B)
©)

(D) Agl 2

(E)

YUEL-T A AT W Al i A 28a

5137 BUAIRL 3] AAL WALGL UAE S :
A | Q-1

(;udl)

) odleld il

()
(1) A%
(o) § alél (2) @¥y-slR

(5) slaustan wdl (3) (e usel

(3) secl-adl (4) Russln
ey ) ¢ ©)

A 2 3 1 4

@ 4 3 2 1

C© 2 3 4 1

D) 3 1 2 4
(E) Not Attempted

ydla (S elle sl 52941 Hlel ™oL
EUINCEN] B (Seismic Zone)Hl Ld €9 2

(A) P11
(B) i 111
(C) R IV
(D) AV
(E) Not Attempted

26

140.

141.

142.

143.

YUEL-T A ALEL-TT A Al i A 28a
5137 BUARL S ARAL WAGL UAE S :

wel-1 Wel-11
(B a1 (Ran)
UH)

AL @0,
Qi1 24
G LeldHl MR
BRRAUHL YR
[Brectnl ool

(a) Andlwea (1)

(b) slawaL  (2)

(c) -ieledl (3) RMsslHul Gar-uBan
(d) s (4) HaauHl QUL
2532l ™oL
“n o 36 @4
(A) b a d C
B) a b d C
© b C a d
D) ¢ a b d

(E) Not Attempted

AL (el A Al

(@t (Assertion) (A)
AHHL 22d w2 ¢,

51281 (Reason) (R) : dlfHarllg Wl dle-

wUsAL [Aye ¢iR .

(A) 2 (R) ol 1l

(A) L ARl ungdl .

(A) 21 (R) i+ Al 9 uel (R) 2l

(A) Al all angydl Al

(A) 013 £ uBL (R) vl 9.

(A) Ui €9 ugL (R) 13, 9.

Not Attempted

EICETRERIE

A\ N\

(A) 9 2 (R) 2l

(B)

©)
D)
(E)

AL UL 565 %8 2l d Al el 2

(A) elEel 24751 — 4w (Pampas)
(B) elteL 2usls5l — des (Veld)
(C) lgla — YRR\ (Prairie)
(D) €371 — Yl (Puszta)
(E) Not Attempted

ste-vlletfl 2l R sl 59 uBa
Hee 52 9 ?

(A) ARG

(B) ddls2m1

(C) waLouwv{l

(D) Gu-L Usl 519 Al

(E) Not Attempted
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137.

138.

139.

The River Ganga assumes its name after

the confluence of

(A) River Bhagirathi and River Alaknanda
at Dev Prayag

River Pindar and River Alaknanda at
Dev Prayag

(B)

(C) River Mandakini and River Bhagirathi

at Karan Prayag

(D) River Bhilangana and  River

Bhagirathi at Dev Prayag

(E) Not Attempted

Match the List — I with the List — II and
select the correct answer using the code
given below :

List -1 List - II
(Mountain Pass) (State)
(a) Banihal Pass (1) Rajasthan
(b) Kunjun Pass 2)J&K
(c) Dongkala (3) Himachal

Pass Pradesh
(d) Haldighati (4) Sikkim
Pass
@ ® @© @
A 2 3 1 4
B) 4 3 2 1
<o 2 3 4 1
D) 3 1 2 4
(E) Not Attempted

Majority of Kutch except eastern part falls
under which Seismic Zone ?

(A)
(B)
©)
D)
(E)

Zone 11

Zone 111

Zone IV

Zone V

Not Attempted

QDB-24
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140.

141.

142.

143.

Match the List — I with the List — II and
select the correct answer using the code
given below :

List - I List - 11
(Name of the (Location)
Biosphere)
(a) Simllipal (1) Part of Chamoli,
Pithoragarh &
Almora in
Uttarakhand

(b) Kanchanjunga (2) Part of Mayurbhanj
district in Orissa

(c) Nanda Devi (3) North-west in

Sikkim
(d) Nokrek (4) Part of Garo Hills
in Meghalaya
- 2 6 @
(A) b a d C
B) a b d C
@ b c a d
D) ¢ a b d

(E) Not Attempted

Consider the following statements :

Assertion (A) : Tamil Nadu has a steel
plant in Salem.

Reason (R) : Tamil Nadu has abundant
iron ore deposits.

Select your answer from the code below :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A).

Both (A) and (R) are true, but (R) is

not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Not Attempted

(B)

©)
D)

(E)

Which of the following pair is NOT
correctly matched ?

(A) South America — Pampas

(B) South Africa — Veld

(C) Australia — Prairie

(D) Hungary — Puszta

(E) Not Attempted

Which of the following process helps in the
formation of Rift Valley ?

(A) Faulting

(B) Folding

(C) Volcanic Activity

(D) None of the above

(E) Not Attempted



144.

145.

146.

147.

el axdl awidl wruel, oyl Riel
RdlHl ddl 2uGAl axdl LRl
AVUHRHL Sedl 251 AdIRL Ul €9 2

A) 21%
B) 23%
©) 25%
D) 27%
(E) Not Attempted

A U8l sy [ HRdd dla
wylazel {lld-2006-1 2 el ?

(A) i Hewarl yalaely Aldll suasl
(B)
©)
(D)
(E)

VidR-2 A% 51 Awe{lug
AFlet Hie war[Hals Y28l
uufqel gum

Not Attempted

MRdHl AL Usl sy 2 dlell [
%oLel [AclIR 4R €9 ?

(A) L3RUAA Uil
(B)
©)
(D)

(E)

o2l
WYL
YA

Not Attempted

A2 Usl 59 330l o -2l 2
(A)
(B)
©)
(D)
(E)

BHIEIR

£zl

stelludl

Alean

Not Attempted
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148.

149.

150.

vedll  Audlall AL s dldlarelAi
AL s 9 9 ?

(A) &l 2UARBL, AHAM UL,
HEYLARBL, BUUALARBL

(B) &lel aRBl, wsHiRsU, w8,
AHALY 2ULAR8L

(C) &t 2UARBL,  AHAM UL,
HARBL, 2sBURSUR

(D) &t BUARBL,  AHAM UL,
UYALAREL, HELLARBL

(E) Not Attempted

QAL 35t ALl

el -1 el - 11

() el (1) b}vﬂ%, g, YA,
L)

(@) yelazer  (2) well was

(5) wdlarRel  (3) AU aA

(3) el (4) gdl, 9fte wdR
(CHYRNCVENC) RN E))

A) 1 2 3 4

(B) 4 1 2 3

© 2 3 1 4

D) 1 2 4 3

(E) Not Attempted

YALdL [Ban Si dl,

(A) -l 2dledl aiell [zaa (G-uo, 1u-)
wdl auidAl ALl g5l [an (Rruy
214-)

B) vl Aldl &5l [2ax (G-uy, u-)
wdl QL Wl aiol [ban (Rruy
Y1)

(C) Al 2l &5l [ax (Gruy, »u-)
sdl Al e [kan (Rruy
Y1)

(D) Guz U8l 51 el

(E) Not Attempted

QDB-24



144.

145.

146.

147.

As per the last census, what is the rise of
percentage in lion population in Gir as
compared to the previous census ?

(A) 21%
(B) 23%
(C) 25%
(D) 27%

(E) Not Attempted

Which one of the following statement is
not the objective of the National
Environment Policy-2006 of India ?

(A) Conservation of critical

environmental resources
(B)
©
D)
B

Intra Governmental Equity
Livelihood Security for the Poor
Environmental Governance

Not Attempted

Which of the following state has the largest
area of forest cover in India ?

(A) Arunachal Pradesh
(B) Gujarat

(C) Madhya Pradesh
(D) Assam

(E) Not Attempted

Which of the following is NOT variety of
mango ?

(A) Jamadar
(B) Dasehri
(C) Kalipatti
(D) Neelam
(E) Not Attempted

QDB-24
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148.

149.

150.

What is the sequence of atmospheric layers
in ascending order from the surface of the
earth ?

(A) Troposphere, Stratosphere,
Mesosphere, lonosphere
(B) Troposphere, Exosphere, Mesosphere,
Stratosphere
(C) Troposphere, Stratosphere,
Mesosphere, Exosphere
(D) Troposphere, Stratosphere,
Ionosphere, Mesosphere
(E) Not Attempted
Match the following :
List -1 List - II
(a) Atmosphere (1) Mineral, matter,
land, slope
(b) Lithosphere (2) Water flow
(c) Hydrosphere (3) Organic matter
(d) Biosphere (4) Wind,
precipitation etc.
(@ (b (© (@

A 1 2 3 4
B) 4 1 2 3
< 2 3 1 4
D) 1 2 4 3
(E) Not Attempted

The day of the solstice is either the

(A) Longest day of the year (summer
solstice) or the shortest day of the
year (winter solstice)

(B) Shortest day of the year (summer
solstice) or the longest day of the year
(winter solstice)

(C) Shortest day of the year (summer
solstice) or the Normal day of the year
(winter solstice)

(D) None of the above

(E) Not Attempted



151.

152.

153.

154.

A wiellel AL ARARA UL umel
dloAUML U €9 ?
(A) daud
(C) A
(E) Not Attempted

(B) olauRl
(D) vild

HelaerAl  welldl  «@asidl  (Salinity)

[Ayagn s Sl el 9 5101 5

(1) U dR™le

(2) ouwletanA-l Gl €2

(3) Aelall glRl HelARRHL ddidl well-l
[ayel oeal

A) (24 3) B ) 21 3)

(€ (1) 24 (2) (D) dHIH AL 9.

(E) Not Attempted

35l A3l

wel -1
() 23%° GdR
() 23%5° ¢lawL

wel - 11
(1) 2usles 9
(2) »-elsles g

(5) 66Y2° G (3) s59d
(3) 66v°elawl  (4) s
Gy @ ¢ ©)

A 2 3 1 4
B 1 2 3 4
© 3 4 1 2
® 4 1 3 2

(E) Not Attempted

w5 ugl s cud sR@UAULL eRdde
ay wUd (Green House Gas Emission) Hl
gLl sal M sdl W3l (Protocol) AB2L
QAL UYH 52U Sl ?

(A) HAZlMa wielsla

(B) YA lelsia

(C) 2ellgdl olgdld Welsla  (Climate
Change Protocol)

Bu-l WSl 519 Al

Not Attempted

D)
(E)

30

155.

156.

157.

158.

159.

YedAsld  dadud-e  dU&L  (SDGs)
(Sustainable Development Goals) ©¢ll6icril
ARl Qo wud Al A AL Bt
YAe 52U

(1) SDGs 2030 AeH6ld IaeduHe-l
g3l deH 9.

AR dar (Zero Hunger)

agdist *e delleR)

(1) 2 (2) Al 9.

(2) 2 (3) Al 9.

(1), (2) 24 (3) AR 9.

GuR U5l isuel ALl

Not Attempted

2
3)
(A)
(B)
©)
D)
(E)

AuAe 2ldorR st ARLEL (NTCA)
VAAR HIRAML 215012 FodAl @0 Hie
AL WS sUl AR et 9 2

(A) Herne 2a9dR Iled

(B) ciglyz a1 Jnd

(C) WU 2ldorR nd

(D) BURAL dHIH

(E) Not Attempted

MR A RUAHIR 9, AR Y81 AL
A3 BN [AMIFS AL ¢9 ?

(A) PR 25321l

(B) F-dlal es3lil

(C) vl 253121

(D) UL 253l

(E) Not Attempted

AUl $MM aai-l Aeel 2 Usl 5y
(e vl €9 2

(A) %ei-%el ulsl 24 vidl ugla

B) uelsausly  dlas (s we s
wlotlelsly &stl)

44 5 [asalqenauid »1Rda
A elBU 2 A2 elBY

Not Attempted

©)
D)

(E)

361y S0 5 (WWF) IR RUdHi
iz, welits wiRRalas (ARl (terrestrial
eco-regions) dHL[Are . AL U5l sul
ol AL €9 ?
(A) Rig gl yuilisial — 21260 AR 4ya
(B) sty — 202l Y51 LR FdLEl
(C) Gui-uly gledl Goralon UV %oLdl
(D) MM AL 9.
(E) Not Attempted

QDB-24



151. By which name is the lake formed by sea-

152.

153.

154.

water known ?

(A) Lake

(C) Lagoon

(E) Not Attempted

(B) Bandhara
(D) Gulf

Salinity of the ocean water near the equator
is low because :

(1) Heavy rainfall

(2) High rate of evaporation

(3) Huge quantity of water brought to
ocean by rivers

(A) (1) and (3) (B) (2)and (3)

(C©) (1)and(2) (D) All are correct.

(E) Not Attempted

Match the following :

List -1 List - II

(a) 23%2°N (1) Arctic Circle

(b) 231»°S (2) Antarctic Circle

(c) 662°N (3) Tropic of Cancer

(d) 66¥%2°S (4) Tropic of Capricorn
(@ ®d © @

A 2 3 1
B 1 2 3
© 3 4 1
D 4 1 3
(E)

ST ST NN

Not Attempted

Which protocol was the first agreement
between nations to mandate country-by-
country reduction in Green House Gas
Emission ?

(A)
(B)
©)
D)
(E)

Montreal Protocol
UNFCCC Protocol
Climate Change Protocol
None of the above

Not Attempted

QDB-24
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155.

156.

157.

158.

159.

Consider the following  statements
regarding Sustainable Development Goals
(SDGs) and select the correct answer :

(1) SDGs refer to the 2030 agenda for
sustainable development

Zero Hunger

Partnership for the Goals

(1) and (2) are correct.

(2) and (3) are correct.

(1), (2) and (3) are correct.

None of the above

Not Attempted

2
3)
(A)
(B)
©)
D)
(E)

According to National Tiger Conservation
Authority (NTCA) which of the following
is correct answer for location of Tiger
Reserve in India ?

(A) Melghat Tiger Reserve

(B) Bandipur Tiger Reserve

(C) Ranthambore Tiger Reserve

(D) All of the above

(E) Not Attempted

The watershed between India and
Myanmar is formed by

(A) Nagar Hills (B) The Jaintia Hills
(C) Khasi Hills (D) The Garo Hills
(E) Not Attempted

Which one is the false statement regarding

agricultural sector in Gujarat ?

(A) Diversified crops and cropping patterns

(B) Climatic diversity (5 climatic zones
for agriculture)

(C) Existence of 4 State Agriculture
Universities

(D) Green houses and shed-net houses

(E) Not Attempted

According to WWF, Gujarat covers
portions of five terrestrial eco-regions.
State which of the following is the correct
answer.

(A) The Indus River Delta-Arabian Sea
Mangroves

(B) Kathiawar-Gir dry deciduous forests
cover

(C) The North-Western Ghats moist
deciduous forests cover

(D) All are true.

(E) Not Attempted



160.

161.

162.

163.

“UlAL” (Playa)d, dsleus A
(A) $UI

B) Qjé asle (Dry lake)
(©) Hu-Bisial

(D) 4ddl

(E) Not Attempted

Al ol silsHEL AlRiAuMElL s9

U [tolAl A9 211 €9 ?

(A) @2 2 ™l UgM8lsRL 21

URICETE)

922 AUl Ve gYfg 520Ul ML
s, oAl wailbir uRAies-,
o ddl HwlHl a2l 2esiaaidl
dlorel 25U €92l uLal.

(B)

(C) a-lsRel, 98 dlddR, Falalaudid 28l
(D)

(E)

GURL dHIH
Not Attempted

GIRAAL M vastal sidsw (Indian
Human Space Programme (HSP)) 2 sul
waugl Al uiedll us 9 2

(A) GSLV-MKk III
(B) PSLV-XL
(C) LVM-3

(D) Ayslugl Adl UauRL Ul IH #dR
sUML 2198l

(E) Not Attempted

gadl (el 2 gradl Guar Gurid
SuAL (ISRO) glRl ol sa1 Al s
SIAS5HL Gl YAML S €9 2

(A)
(B)
©)
D)
(E)

AH YRASlEU HLNY

AH AAHA Fo

o0l AL Hilsdl

yuedls (Navigation) Al
Not Attempted

32

164.

165.

166.

167.

168.

169.

SA (ISRO) >l 28 1R, 2016+ AN
JBUWe (Scramjet) - udlael sy
et dslSl Yl (Advanced Technology
Vehicle)d, 1l olly ulawl . dui g
[afarvedl 9 ?

(A) d Sa81d Buel oudl «9.

(B) Ul dslsil  dldiaRRiMiAl  BA
UBASBR (Oxidiser) ALy AUAA €.
dMl e1dells 2@ quid .
dvl 2w GuR s sdl
B1AR8UL (strap) WAL €9.

Not Attempted

©)
(D) Qe
(E)

UL MIRAAL A SAUMIA GUAS €9 ?
(A) INSAT-2 (B) IRNSS-H
(C) INSAT-3DR (D) GSAT-6

(E) Not Attempted

ol ol Ald A ad e
AL WSl 5y AidRels $3 edidR desla,
24 %7, Adl 20 €9 ?

(A) NEFT (B) RTGS

(C) IMPS (D) GUHL d™M

(E) Not Attempted

MIzdMl dduaH (@< 51 (Wind Farm)
S4L U3 SAUML 2, 8, ?

A) ddlsiRA, diFHearg

(B) Al®dl, d%3Ud

(C) -ldIYR, HelR1

(D) gL, gl

(E) Not Attempted

A2 U sy Al elRdAL drdlaelly
SlatelAHl “ot e [Rads” (A great divide)
dly 2o 9 2
(A) 1905
(C) 1921
(E) Not Attempted

(B) 1911
(D) 1947

MIRd ARSRAL AL WSl suL vl
“32¢ 2L Ulwse” YUl 9 2

(A) MRe vlidl

(B) 2dd vildl

(C) U vildl

(D) wHleL (s vidl

(E) Not Attempted

QDB-24



160.

161.

162.

163.

Alternative name of Playa is

(A) Escarpment (B) Dry Lake

(C) Delta (D) Mountain

(E) Not Attempted

‘Namami Gange’ programme involves

which of the following activities ?

(A) Modernization and redevelopment of

Ghats and crematoriums

(B) Development of sewage infrastructure
and treatment, pilot drain project,
interceptor  drain  project, trash
skimmers

(C) Afforestation, tree plantation,
conservation of biodiversity

(D) All of the above

(E) Not Attempted

Which launch vehicle has been identified
for Indian Human Space Programme (HSP)
of India ?

(A)
(B)
©)
D)

GSLV-Mk III
PSLV-XL
LVM-3

Completely new launch vehicle to be
named

(E) Not Attempted

Beside Tele-education and Tele-medicine,
what other societal programme ISRO has
been taken up ?

(A) Village Library Network

(B) Village Resource Centres

(C) Water Resources Information
(D) Navigation Services

(E) Not Attempted
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164.

165.

166.

167.

168.

169.

On 28" August, 2016, ISRO conducted the
scramjet engine test. This is the second test
of Advanced Technology Vehicle (ATV).
What is unique about this ?

(A) It burns the fuel at faster rate.

(B) In this technology atmospheric
oxygen is used as an oxidiser.

This uses a hybrid engine.

It carries multiple strap on engines.
Not Attempted

©)
D)
(E)

Which one is India’s latest weather satellite ?
(A) INSAT-2 (B) IRNSS-H

(C) INSAT-3DR (D) GSAT-6

(E) Not Attempted

Which of the following offer an instant
24 x 7, interbank electronic fund transfer
service throughout the year including bank

holidays ?
(A) NEFT (B) RTGS
(C©) IMPS (D) All of above

(E) Not Attempted

Where was the first wind farm started in
India ?

(A) Tutikorin, Tamil Nadu

(B) Lambha, Gujarat

(C) Nagpur, Maharashtra

D)
(E)

Panji, Goa
Not Attempted

The year is called “A great divide”
in the demographic history of India.

(A) 1905 B) 1911

©) 1921 (D) 1947

(E) Not Attempted

Which of the following department of
Government of India has launched “Rural
ICT Project” ?

(A)
B)
©
D)
(E)

Department of Post

Department of Railways
Department of Health

Department of Rural Development
Not Attempted



170.

171.

172.

173.

174.

175.

GllEld$1AML (Outerspace) Ar-il AU
9 58 ©9 ?

(A) A=leldldl  (B) AsAleudidlw
(C) ASslal® (D) WALl

(E) Not Attempted

Alsl A (Zika Virus) H292l 59
uald glrL sy € 2

(A) A 2wl wnld (Aedes aegypti
Species)

s4dsu uald (Culex Species)
AlR1s121L el (Psorophora Species)
wi-lEEA wonld (Anopheles Species)
Not Attempted

(B)
©)
D)
(E)

201441 uyd Hauau
AYUSH)-l 224
(1L 24 A0 He 48 edl.

(A) 204de i Yol Hivl

(B) Y-l (Unani) 2t 582l GUAR Hizt
(C) [ (Siddha) A elliudl Hst
(D) BuR-L 6L %

(E) Not Attempted

(Ministry  of
Al A

Faude  esldlew  [Raser ¥sn (Missile
Technology Control Regime)Hl 35HL A®Y,
d3l3 sl 2ol AHIAL SAUHL VL) ?

(A) A (B) Wldcilt

(C) AUl (D) ®IRd

(E) Not Attempted

2015-2019 ¥4 &IRdA 5000 H[25 2
U1y 942l (Nuclear Fuel) Y& ulgdl 12
Hey 2RAAL SUL 22l ASHA UUL €9 ?

(A) AlSlBell (Tajikistan)

(B) G632l (Uzbekistan)

(C) sHUclrl (Kazakhstan)

(D) Y3+ (Ukraine)

(E) Not Attempted

29 A2 9.l (GCNEP) »l2d,

(A) ddiotd A2 R YBUMN AAD
ey

(B) ddiotd AeR 3R YBAMR VAL UM

(C) D¥add AR A YBAVR D
TS

(D) @3Ud®sd A2 2wy AlA-
5Ae3lrd 2D UlB S

(E) Not Attempted
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176.

177.

178.

179.

Al 59 weHld (s=A-ad)  GuR
MHIRd AL 53] €9 2

(A) SweAe 5= SR AU S
wsen s YRR R
(ICSANT)

SvAde9ld A U [(Bolsa ulesut s
Y[R HlTlud (CPPNM)

Sedeald Bl Awdlme]l s
512 YFavR 3% (CSC)

GuR-lL oML %
Not Attempted

(B)
©)

D)
(E)

UHIRL Y& Audr  (Nuclear Security
Summit)Hi MULRd-L el olioid Al
9, A1 9 2

(A) A5y, (HEU) dURd, ®lRdd s
HioL Aellan uiser oy sy €.
&R S5 (IAEA’S) «ll URHIL,
el eldlaml 201341 $1 Bidla i
dedl % 4l 201641 ST UL
Mizd s AR Als AU
(Center of Excellence) Q%LLU\{,. (GCNEP)
GUR-L oL %

Not Attempted

(B)

©)

D)
(E)

%l (Juno) 512U UAL (NASA)L
ASAAYAS $UL AL GUR M5 9 2

(A) ¥l (Mars) (B) Wzl (Pluto)
(C) d3(Jupiter) (D) U3lRL (Pandora)
(E) Not Attempted

w2l 201641, etRd 2 oflon uRMLL, AL
Ycdl 2ol URHLLL AL w2l el
AL 2Bl duladAdl eql sul wal
il ~IEd (International Court of
Justice) |l 59 sUl ?

(A) Mgl 215a-g34 (Marshall Islands)
(B) uyil <y ol (Papna New Guinea)
(C) w3l (Pakistan)

(D) #léist (SriLanka)

(E) Not Attempted

QDB-24



170.

171.

172.

173.

174.

175.

Study of life in outerspace is known as :
(A) Endobiology (B) Exobiology
(C) Lifology (D) Spasology
(E) Not Attempted

Zika virus is transmitted by which mosquito
species ?

(A)
(B)
©
D)
B

Aedes aegypti species
Culex species
Psorophora species
Anopheles species
Not Attempted

The Ministry of AYUSH was formed in
2014 for development of education and
research in the field of

(A)
(B)
©)
D)
(E)

Ayurveda and Yoga only
Unani and Naturopathy only
Siddha and Homeopathy only
All of the above

Not Attempted

Which country has been admitted as the
35" member of the Missile Technology
Control Regime (MTCR) ?

(A) China (B) Pakistan

(C) Japan (D) India

(E) Not Attempted

Which Central Asian country has agreed to
supply India with 5000 metric tons of
nuclear fuel during 2015-2019 ?

(A) Tajikistan (B) Uzbekistan

(C) Kazakhstan (D) Ukraine

(E) Not Attempted

GCNEP stands for

(A) Global Centre for Nuclear Energy
Partnership

(B) Global Centre for Nuclear Energy
Programme

(C) Geothermal Centre and Nuclear
Energy Project

(D) Geological Centre and  Non-
Conventional Energy Project

(E) Not Attempted
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176.

177.

178.

179.

India is a signatory of which of the
following convention ?

(A) International Convention for the
Suppression of Acts of Nuclear
Terrorism (ICSANT)

(B) Convention on the Physical Protection
of Nuclear Material (CPPNM)

(C) Convention on Supplementary
Compensation for Nuclear Damage
(CSO)

(D) All of the above

(E) Not Attempted

Which is correct regarding India’s

contribution towards the Nuclear Security
Summit ?

(A) The only research reactor in India

using HEU has been shut down

India has contributed $1 million to
TAEA’s Nuclear Security Fund in
2013 and similar amount in 2016

(B)

India has established a Centre of
Excellence (GCNEP)

All of the above
Not Attempted

©)

D)
(E)

NASA has successfully
Spacecraft to which planet ?

(A) Mars (B) Pluto
(C) Jupiter (D) Pandora
(E) Not Attempted

sent Juno

In March 2016, which country lodged a
case in the International Court of Justice
(ICJ) against India and other nuclear
weapon countries for a ruling to order them
to start work on dismantling their nuclear
arsenal ?

(A) Marshall Islands
(B)
©
D)
(E)

Papua New Guinea
Pakistan

Sri Lanka

Not Attempted



180.

181.

182.

183.

184.

22 %« 201671 Y SUU (ISRO) gl
Aelsterdl Ul qdd GuAe
(satellite) olletd 9 A1, el 2

(A) 215 % [HaMl 20 GUAS OL3UHL UL
B) aMl [eudl>ll e 6l GuAS 2 AR
22l AR GUASIL AHLAL YA Sdl.
GuASi GRL Alladl @.x21d.dl.
(GSLV) 22l Guual il 8dl.
BGURAL dHIH

Not Attempted

©)

D)
(E)

yuiRiAl gl wRell wtidRAElA wasial
HY5  (International  Space Station)-il
AqaAAS Bl (Commercial Flight) 12
AR (NASA) Wie s2al 212 WSl aurdly
Houedl 29415 sasial sl © 2

(A) SEU-L ALAEl

B) Y[l [alau=y

(©) zlast glu

(D) Gurd vsuel &l

(E) Not Attempted

Slsut Awuld Adlola Aearde Alen
(NAVIC), yel 2a3u 9 9 ?

(A) a2 wdlsa Sluq si-udldan
(B) Aad «wlsa Sl si=udldaq

(C) Adlola Szt si=udldan

(D) Adlola «lsa Slsaq si-udldan
(E) Not Attempted

uldi-l Gl w3RAdIA 2Hedl a1 1l
59 AesEl W FasAnA1w. (Bio-
CNG) Gual sl wlre A3 sl ?

(A) 4d

(B) leixt uial uLla.

(€) deud siladsd

(D) Gurd 2suel &l

(E) Not Attempted

dlot-Ssut ulRul-lL (LIGO-India Project)
GIRL AL AU SUML 2 9 2

(A) yedl Gur-l wuRelld

B) 23l (Gravitational) d2oll

(C) il liclel yedl u-l [Ad1R

(D) wnAy uRddArl dre

(E) Not Attempted
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185.

186.

187.

188.

189.

56 Ul wultuoul Alst award el
(Zika Virus Vaccine) [saidl elaitl elal
531 Yere (HUASL 5) M 2R s €9 2
(A) 3l 2382 (Dr. Reddy’s)

(B) »oisll (Ranbaxy)

(C) MIRd 6ll2s (Bharat Biotech)

(D) Gurd @suel &l

(E) Not Attempted

wllHlenSed (Automobile) [A2ami “Aoyal
Yloel” (Project Nebula) 21 9 ¢9 ?

(A) 2l 22 HlA (Aston Martin) 241 23
o4 (Red Bull) glRl Yu2 s+l
Rad- [Qal «9.

wi el 2Ales ALd 512 (A9l
o Al Aas 2Asd s (a9l
Gu visugl Al

Not Attempted

(B)
©)
D)
(E)

.
6.

AA 2idoln  (Parabolic) [ Q{LQL':L 3
e Hlexda 2[3ul-2elasiu (The Giant
Meterwave Radio-Telescope) ™lRd-ll $¥l
YL Y5AML U €9 ?

(A) oldlR

(B) Hy2

(C) slad3ue, diarily

(D) ~URLARRLUA, Y-l

(E) Not Attempted

g A, €L [As 2 doU ALl

Hauad oz A Al o
s1A54 vidold AHlsmL S5 sUl 9.

(A) siA (B) Y2421

C) Y.5. (D) -l

(E) Not Attempted

SlatR 4Ll (DRDO) g2l delvidi [d2as

Alell Gl 23Zlud 3w (Terrestrial Center)

Glef, s ulyal vlad g ¢ ?

(A) (&M A€l (Glaciers)>l-tl 240U 52l

(B) gdet A [dedl-l U (endangered)
usiAel  wiiwdla aqrulad 8w
524,

(C) Mind Bur GlUS-l 292 dudl.

(D) Mi-dl GuR  welaly,  (Oxygen) il
SHIHL 202 qundl.

(E) Not Attempted

QDB-24



180.

181.

182.

183.

184.

Which is NOT correct regarding the
satellite launched by ISRO on 22" June,
2016 from Sriharikota ?

(A) Launched 20 satellites in a single
mission

It included two student satellites and
17 satellites of four foreign countries
The GSLYV rocket was used to lift the
satellites

All of the above

Not Attempted

(B)
©)

D)
(E)

Which Indian-American is among the four
astronauts who have been selected by
NASA for commercial flights to the
International Space Station from US soil ?

(A) Kalpana Chawla (B) Sunita Williams
(C) Devika Chhipa (D) None of the above
(E) Not Attempted

What is the full form of NAVIC the Indian
Regional Navigation Satellite System ?

(A) National Air Vehicle Indian
Constellation

(B) National Vehicle Indian Constellation

(C) Navigation Indian Constellation

(D) Navigation Vehicle Indian
Constellation

(E) Not Attempted

Which co-operative organisation in Gujarat
has started a bio-CNG generation plant to
help reduce its energy needs ?

(A) Amul

(B) Atmos Power Pvt. Ltd.
(C) Gujarat Fertilizers

D)
(E)

None of the above
Not Attempted

What is meant to be studied through LIGO-
India Project ?

(A)
(B)
©)
D)
(E)

Sources of Water on Earth
Gravitational waves

Spread of mineral resources on Earth
Climate change patterns

Not Attempted
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185.

186.

187.

188.

189.

Which Indian lab claims to have developed
the Zika virus vaccine and applied for a
patent ?

(A) Dr.Reddy’s (B) Ranbaxy

(C) Bharat Biotech (D) None of the above
(E) Not Attempted

What is ‘Project Nebula’ in the world of
automobiles ?

(A) It is about design of a super car by
Aston Martin and Red Bull

It is about design of a driverless car
by Google

It is about design of a driverless car
by Apple

None of the above

Not Attempted

(B)
©)

D)
(E)

The Giant Metrewave Radio-Telescope
(GMRT) with thirty gigantic parabolic
dishes has been set up in which place in
India ?

(A) Bangalore

(B) Mysore

(C) Kodaikanal, Tamil Nadu

(D) Narayangaon, Pune

(E) Not Attempted

The Ministry of Water Resources, River
Development and Ganga Rejuvenation has
signed an Implementation Agreement
under ‘“Namami Gange” programme with
which country ?
(A) France

(C) UK

(E) Not Attempted

(B) USA
(D) Germany

What is the purpose of setting up of
world’s highest terrestrial centre in Ladakh
by DRDO ?

(A) To study the glaciers

(B) To preserve the rare and endangered
medicinal plants

To study the effect of high altitude on
humans

To study the effect of lack of oxygen
on humans

Not Attempted

©)

D)

(E)



190.

191.

192.

193.

194.

195.

MRd gkl AL Y8 59 Sl udldl
“5142-21v3-52912”  (Fire-and-forget) 2+5
R Fauda Rsuaar 2udl o 2

(A) -2l

(B) 1%+l

(C) 6lR1$-8

(D) g

(E) Not Attempted

ANIY Gl el (National  Ujala
Dashboard) «l2-1mi2ll 2u-dl 202 Asondd 9 2
(A) LED @0l [qdzel

(B) ML & UMIRHL B2L3l $24l.

(C) WssiL B 2491 524l

(D) BuR-L 6L %

(E) Not Attempted

wque gl el Wi A wedl
YUR 5422 wAUH-2HY  (Anupam-
Ameya) glRl [asAlacHl 201 .
(A) BARC (B) CSIR

(C) TIFR (D) DST

(E) Not Attempted

[sa-l el Hiel Al 35 2iu waAR
Wk Wle (Single Roof Top Solar Power
Plant) $4i 2Uddl ¢ ?

(A) ~yuls, YAl

(B) U3, sin

(C) 331 6oL, YAsel, HIRd

(D) H-udl, [BHaa uel, dRd

(E) Not Attempted

Al 2wl (NITI Aayog)-l  [Asiust
AMla e yaor sar ad el
175 GW Y Gl Hordal-l ¢iRd-l
dadls © ?
(A) 2020
(C) 2025
(E) Not Attempted

(B) 2022
(D) 2030

MRddl  AmaM ¢Fu Adasl  usuel
(Earthquake early warning system) gal-ll 54l
oMl wRALlUd sl 2udl ¢ 2

(A) Gauzal (B) 2RUd

(C) GrRlvig (D) H8IRI%

(E) Not Attempted
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196.

197.

198.

199.

200.

3A0Ls glL vdRulol uBAML S-ex-e Adl
Y3l uisal AR Glad duldd il wailbis
Balt s el 9. A 9 s 9 2

(A) q$R (Tuskar)
(B) AR (Sequir)
(C) [3a (Aquila)
(D) YAz (Prover)
(E) Not Attempted

SAA (ISRO)  glRl  olscudl el
20 Guae U8l o yRaRid/dabls weanl
Sl dMHl AUH .

(A) SATHYABAMASAT i
SWAYAM

ARTHBAMASAT i+ SAMYAK
SWATHABAMASAT i+ PREYAK
Gu visuel Al

Not Attempted

(B)
©)
D)
(E)

A2 U8 suL wey yselur AlsyRlél
Aledl uHidl ol quid 530 9 2

A) dlala (B) 4 &3]
(©) -l (D) allse LAl
(E) Not Attempted

dod gt eletd 2L WSl sy 0 9 2

A) d 130 Bl/sas 2 ddl auiz »3u
2149l

(B) d- syadl vid-dl 2@ sia dselui
oirllacMl 2Adell 9.

(C) d eld-25 MUY wisHl, wS-518
sl 2 Asld Ade eldiasl.

(D) BURTL dHIH

(E) Not Attempted

iRdMl R wan walles e Ao
BuAS sUL €9 2

(A) 2AHS-

(C) ude1g

(E) Not Attempted

(B) CU53-1
(D) U

QDB-24



190.

191.

192.

193.

194.

195.

the third
anti-tank

Which of the following is
generation  ‘Fire-and-forget’
missile developed by India ?

(A)
(B)
©
D)
B

Nag

Arjun

Barak-8
Trishul

Not Attempted

National Ujala Dashboard is concerned
with which of the following ?

(A) Distribution of LED bulbs
(B) Reduction in peak demand
©
D)
(E)

Cost reduction of bills of consumers
All of the above
Not Attempted

The ANUPAM-AMEYA Supercomputer,
the largest and fastest in the ANUPAM
series, has been developed by

(A) BARC (B) CSIR
(C) TIFR (D) DST
(E) Not Attempted

Where the world’s largest Single Roof Top
Solar Power Plant is located ?

(A) New York, USA

(B) Paris, France

(C) Dera Baba, Punjab, India

(D) Manali, Himachal Pradesh, India
(E) Not Attempted

As per the NITI Aayog Report of the
Expert Group, India has the goal of
attaining 175 GW renewable energy by
which year ?

(A) 2020

(C) 2025

(E) Not Attempted

(B) 2022
(D) 2030

Which state in India has got India’s first
earthquake early warning system installed ?

(A) Uttar Pradesh (B) Gujarat
(C) Uttarakhand (D) Maharashtra
(E) Not Attempted
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196.

197.

198.

199.

200.

Facebook has test flown a solar powered
drone for providing internet to remote
areas. What is it called ?

(A) Tuskar (B) Sequir
(C) Aquila (D) Prover
(E) Not Attempted

Out of the 20 satellites launched by ISRO
in one go, two of them were
University/Academic institute
Identify their names.

(A) SATHYABAMASAT and SWAYAM
(B) ARTHBAMASAT and SAMYAK
(C©) SWATHABAMASAT and PREYAK
(D) None of the above

(E) Not Attempted

satellites.

Which of the following city has hosted
Nuclear Security Summit twice ?

(A) Seoul (B) The Hague

(C) Geneva (D) Washinghton D.C.
(E) Not Attempted

Which of the following is correct regarding
Tejas train ?
(A) It will operate at the speeds of

130 kmph and above.

It is built at the Rail Coach Factory in
Kapurthala.

(B)

(C) It will provide hi-tech entertainment
units, Wi-Fi facility and integrated
Brail display.

All of the above

Not Attempted

D)
(E)

Which is the First Experimental Remote
Sensing Satellite built in India ?

(A) Aryabhatta-I (B) Bhaskara-I
(C) Aryabhatta (D) Bhaskara
(E) Not Attempted



2§ SIM M2 ¥l [ Space For Rough Work
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